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Use mehropolis \us\mgs fo crecle an a%)raxnwd& S avp
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@ Cahsn'dw a (Bfano“n\':j PrOCCSS whose ogrsﬁ)“\«j
dishibokion s @ Recneuli dists buhion Wwrth parametor P.

) Find fle PGE for khe nith gencrahion 2,
probebility Jonecwting  funchon
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b) for p=04q, find extinchion probability and fhe expectation
of 1he total {)r’oj(’/vtj

solghon: . .
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Cor vy 374
lw}\r‘odmg i :
We have L(N)
(car) = 1.5
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;L'X: bool 6.1

D(NH " Nq 2 £5) = P(Ny765) Ny ~ Poisson (30.1)

(ovv\po?re_ in R 1—ppozs (45,36-'1)

/\)(Nq":lB’N;‘?G)=,P(N:.‘-'18,N‘l'/vm’5_2)‘ )

=P (Ny=1%) PN, '/Vz) 2 52) = ?(Nm"g)?(N5=51
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-10- ‘&
Lot (10:0)F sie (5. o)

= 0.60‘15

1
I
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Plx+) = VN, =0) = e
P(x ¢4) = 1-e7 x ~ e xponential (A
& (x)=ke
'Po«‘SSomprocess- the diffecent Waikns Yives are e/x&)ohon“‘ics\
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X
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570
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We wrike flu): O(W) if M FW o

n—e 0
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